



This is a repository copy of *On the Stability Analysis of Nonlinear Systems*.

White Rose Research Online URL for this paper:
<http://eprints.whiterose.ac.uk/78283/>

Monograph:

Banks, S.P. and Zhang, Yi (1990) *On the Stability Analysis of Nonlinear Systems*.
Research Report. Acse Report 389 . Dept of Automatic Control and System Engineering.
University of Sheffield

Reuse

Unless indicated otherwise, fulltext items are protected by copyright with all rights reserved. The copyright exception in section 29 of the Copyright, Designs and Patents Act 1988 allows the making of a single copy solely for the purpose of non-commercial research or private study within the limits of fair dealing. The publisher or other rights-holder may allow further reproduction and re-use of this version - refer to the White Rose Research Online record for this item. Where records identify the publisher as the copyright holder, users can verify any specific terms of use on the publisher's website.

Takedown

If you consider content in White Rose Research Online to be in breach of UK law, please notify us by emailing eprints@whiterose.ac.uk including the URL of the record and the reason for the withdrawal request.

629.8 (S)

RAMBON

On the Stability Analysis of Nonlinear Systems

by

S.P.Banks [†] and Zhang Yi ^{†*}

[†] Department of Control Engineering

University of Sheffield

Mappin Street

Sheffield S1 3JD, U.K

^{†*} Department of Mathematics

University of Electronic Science & Technology of China

Chengdu , P.R.CHINA

Feb 1990

Research Report No 389

Abstract

The stability of nonlinear systems and nonlinear delay systems is investigated in this paper via the methods of Carleman linearization and inequality analysis. Some new criteria for stability are obtained.

Keywords: Stability, Nonlinear Systems, Delay.



1 Introduction

The stability of nonlinear systems has been widely studied, particularly via the Liapunov approach (LaSalle and Lefschetz [6], 1961). More recently, global linearization techniques (Banks [2], 1988) and the nonlinear variation of parameter formula (Alakseev [1], 1961, and Brauer [5], 1966) has been used in deriving new stability and limit cycle results (Banks [3], 1986, and Banks [4], 1988). In this paper, we shall combine the latter two methods and derive some further new stability criteria for nonlinear ordinary and delay differential equations.

The method will be based on an analysis of an infinite-dimensional differential inequality considered in section 2. In section 3 we shall apply the results of section 2 to nonlinear ordinary differential equations by using Carleman linearization. Combining the results of section 2 and the nonlinear variation of parameters formula, in section 4 shall derive stability criteria for nonlinear delay equations. Finally in section 5, some examples will be give to illustrate the theory.

2 Inequality Analysis

In this section, we shall establish some inequalities, which will be used in the stability analysis of nonlinear systems.

Theorem 2.1. Assume that $v_i(t), i \in I$ are nonnegative continuous functions defined on $[t_0, +\infty)$, which satisfy

$$\dot{v}_i(t) \leq -r_i(t)v_i(t) + \sum_{j \in I} a_{ij}(t)v_j(t) \quad (1)$$

where $r_i(t), a_{ij}(t)$ are nonnegative continuous functions, I is a countable index set. If there exist constants $h > 0, \delta > 0$, and $d_i > 0$ such that

$$\begin{aligned} r_i(t) &\leq h < 0 \\ \frac{1}{d_i} \sum_{j \in I} d_j \frac{a_{ij}(t)}{r_i(t)} &\leq \delta < 1 \\ \sup_{i \in I} \left[\frac{v_i(t_0)}{d_i} \right] &< +\infty \end{aligned}$$

for all $t \leq t_0$ and all $i \in I$. Then, there exist constants λ and $m \geq 1$ such that

$$\frac{v_i(t)}{d_i} \leq m \cdot \sup_{j \in I} \left[\frac{v_j(t_0)}{d_j} \right] \cdot e^{-\lambda(t-t_0)}$$

for all $t \geq t_0$ and all $i \in I$.

Proof: Since $\delta < 1, h > 0$, it follows that for sufficiently small $\lambda > 0$, the

inequality

$$1 - \frac{\lambda}{h} - \delta > 0$$

holds.

Define

$$Q_i(t) = v_i(t)e^{\lambda(t-t_0)}/d_i, t \geq t_0, i \in I$$

Then, we have

$$\dot{Q}_i(t) \leq -r_i(t)Q_i(t) + \lambda Q_i(t) + \frac{1}{d_i} \sum_{j \in I} d_j a_{ij}(t) Q_j(t) \quad (2)$$

for all $t \geq t_0$ and all $i \in I$.

Integrating (2), we have

$$\begin{aligned} Q_i(t) &\leq Q_i(t_0)e^{-\int_{t_0}^t r_i(\tau) d\tau} + \lambda \int_{t_0}^t Q_i(s)e^{\int_s^t r_i(\tau) d\tau} ds \\ &\quad + \int_{t_0}^t \frac{1}{d_i} \sum_{j \in I} d_j a_{ij}(s) Q_j(s) e^{-\int_s^t r_i(\tau) d\tau} ds \end{aligned}$$

Let

$$Q(t) = \sup_{i \in I} \left[\sup_{t_0 \leq s \leq t} [Q_i(s)] \right]$$

Then we get

$$\begin{aligned} Q_i(t) &\leq Q(t_0) + \frac{\lambda}{h} Q(t) \\ &\quad + \int_{t_0}^t \frac{1}{d_i} \sum_{j \in I} d_j \frac{a_{ij}(s)}{r_i(s)} r_i(s) e^{-\int_s^t r_i(\tau) d\tau} ds Q(t) \\ &\leq Q(t_0) + \frac{\lambda}{h} Q(t) + \delta \int_{t_0}^t r_i(s) e^{-\int_s^t r_i(\tau) d\tau} ds Q(t) \end{aligned}$$

Noting that

$$\int_{t_0}^t r_i(s) e^{-\int_s^t r_i(\tau) d\tau} ds \leq 1$$

for $t \geq t_0$, We have

$$Q_i(t) \leq Q(t_0) + \left(\frac{\lambda}{h} + \delta \right) Q(t)$$

for all $t \geq t_0$ and all $i \in I$. Hence,

$$Q(t) \leq Q(t_0) + \left(\frac{\lambda}{h} + \delta \right) Q(t)$$

and

$$Q(t) \leq \frac{1}{1 - \frac{\lambda}{h} - \delta} Q(t_0).$$

Therefore, we get

$$\frac{v_i(t)}{d_i} \leq m \cdot \sup_{i \in I} \left[\frac{v_i(t_0)}{d_i} \right] e^{-\lambda(t-t_0)}$$

for all $t \geq t_0$ and all $i \in I$, where $m = 1/(1 - \frac{\lambda}{h} - \delta)$. This completes the proof.

Theorem 2.2. Assume that $S(t)$ is a nonnegative continuous function defined on $[t_0, +\infty)$, which satisfies

$$\dot{S}(t) \leq -r(t)S(t) + \sum_{j=1}^{\infty} b_j(t)S^j(t)$$

for $t \geq t_0$, where $r(t), b_j(t)$ are nonnegative continuous functions. If there exist constants $d_i > 0, (i = 1, 2, \dots)$ such that

$$\frac{1}{d_i \cdot r(t)} \sum_{j=1}^{\infty} b_j(t) \cdot d_{j+i-1} \leq \delta < 1$$

$$\sup_{j \geq 1} \left[\frac{S^j(t_0)}{d_j} \right] < +\infty$$

for all $i \geq 1$ and all $t \geq t_0$, then, there exist constants $\lambda > 0$ and $m \geq 1$ such that

$$S(t) \leq m d_1 \cdot \sup_{j \geq 1} \left[\frac{S^j(t_0)}{d_j} \right] \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

Proof: Define

$$v_i(t) = S^i(t), (i = 1, 2, \dots)$$

We have

$$\begin{aligned} \dot{v}_i(t) &= i S^{i-1}(t) \cdot \dot{S}(t) \\ &\leq -ir(t) S^i(t) + i \sum_{j=1}^{\infty} b_j(t) S^{i+j-1}(t) \\ &= -ir(t) v_i(t) + i \sum_{j=1}^{\infty} b_j(t) \cdot v_{j+i-1}(t) \end{aligned}$$

Then, the theorem 2.1 applies.

Corollary 2.1. If there exist a constant $k > 0$ such that

$$\frac{1}{r(t)} \sum_{j=1}^{\infty} k^{j-1} \cdot b_j(t) \leq \delta < 1$$

$$S(t_0) \leq k$$

Then, there exist $\lambda > 0, m \geq 1$ such that

$$S(t) \leq m \cdot S(t_0) \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

Proof: Chose $d_i = k^{i-1}$ in theorem 2.2 and note that

$$S(t_0) \geq \frac{S^i(t_0)}{k^{i-1}}$$

for all $i \geq 1$. Then, the result follows.

3 Nonlinear Systems

We shall assume that an n -multi-index is an n -multiple $i = (i_1, \dots, i_n)$ of nonnegative integers, $i_1 + \dots + i_n = i, i_k \geq 0 (k = 1, \dots, n)$. The sum of two multi-indices i and j is defined as $i + j = (i_1 + j_1, \dots, i_n + j_n)$. We say that $i \geq j$ if $i_k \geq j_k$ for $k = 1, \dots, n$. When $i \geq j$, we define $j - i$ as

$(j_1 - i_1, \dots, j_n - i_n)$. We also define

$$x^i = x_1^{i_1} \dots x_n^{i_n}, \quad \|x\| = \max_{1 \leq s \leq n} (|x_s|)$$

for $x = (x_1, \dots, x_n) \in R^n$. Also, $1(k)$ will denote the n -multi-index with 1 in the k th place and zero elsewhere.

Consider the nonlinear system

$$\dot{x}(t) = f(t, x(t)), \quad x(t_0) = x_0 \quad (3)$$

where $x \in R^n$ and $f : D \times R^n \rightarrow R^n$ is an analytic function for $t \geq t_0$, where $D = [t_0, +\infty)$, $f(t, 0) \equiv 0$. We shall assume that the solution of (3) exists and is unique.

Defination 3.1. The zero solution of (3) is said to be K -globally exponentially stable, if there exist $\lambda > 0, \pi \geq 1$ such that $\|x_0\| \leq K$ implies that

$$\|x(t, t_0, x_0)\| \leq \pi \cdot \|x_0\| \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

Since $f(t, x(t))$ is analytic, we may write

$$f_k(t, x(t)) = \sum_{i \geq 1} f_i^k(t) \cdot x^i(t), \quad 1 \leq k \leq n.$$

Define the functions

$$\phi_i(t) = x_1^{i_1}(t) \dots x_n^{i_n}(t) = x^i(t), \quad i \geq 1$$

and differentiate $\phi_i(t)$ along the trajectories of (3). Then, we have

$$\begin{aligned} \dot{\phi}_i(t) &= \sum_{k=1}^n i_k x^{(i-1(k))}(t) \dot{x}_k(t) \\ &= \sum_{k=1}^n i_k x^{(i-1(k))}(t) f_k(t, x(t)) \\ &= \sum_{k=1}^n i_k x^{(i-1(k))}(t) \sum_{j \geq 1} f_j^k(t) x^j(t) \\ &= \sum_{j \geq 1} \sum_{k=1}^n i_k f_{j-i+1(k)}^k(t) x^j(t) \end{aligned}$$

where we define $f_l^k(t) \equiv 0$, if $l \leq 0$.

Hence,

$$\dot{\phi}_i(t) = a_i^i(t) \phi_i(t) + \sum_{j \neq i} a_i^j(t) \phi_j(t) \quad (4)$$

where

$$a_i^j(t) = \sum_{k=1}^n i_k \cdot f_{j-i+1(k)}^k(t) \quad (5)$$

Theorem 3.1. If there exist constants $h > 0, \delta > 0$ and $K > 0$ such that

$$\begin{aligned} a_i^i(t) &\leq -h < 0 \\ \sum_{j \neq i} K^{j-i} \cdot \frac{|a_i^j(t)|}{|a_i^i(t)|} &\leq \delta < 1 \end{aligned}$$

for all $i \geq 1$ and all $t \geq t_0$. Then, the zero solution of (3) is K -globally exponentially stable.

Proof: From (4), by the method of parameter variation, we have

$$\phi_i(t) = \phi_i(t_0)e^{\int_{t_0}^t a_i^i(\tau)d\tau} + \sum_{j \neq i} \int_{t_0}^t a_i^j(s)\phi_j(s)e^{\int_s^t a_i^i(\tau)d\tau} ds$$

so that

$$|\phi_i(t)| \leq |\phi_i(t_0)| e^{\int_{t_0}^t a_i^i(\tau)d\tau} + \sum_{j \neq i} \int_{t_0}^t |a_i^j(s)| \cdot |\phi_j(s)| \cdot e^{\int_s^t a_i^i(\tau)d\tau} ds$$

Let

$$v_i(t) = |\phi_i(t_0)| e^{\int_{t_0}^t a_i^i(\tau)d\tau} + \sum_{j \neq i} \int_{t_0}^t |a_i^j(s)| \cdot |\phi_j(s)| \cdot e^{\int_s^t a_i^i(\tau)d\tau} ds$$

then, $|\phi_i(t)| \leq v_i(t)$ for all $i \geq 1$ and all $t \geq t_0$. Moreover,

$$\dot{v}_i(t) \leq a_i^i(t)v_i(t) + \sum_{j \neq i} |a_i^j(t)| \cdot v_j(t) \quad (6)$$

Choose $d_i = K^{i-1}$, $i \geq 1$, then, if $\|x(t_0)\| \leq K$, we have

$$\frac{v_i(t_0)}{d_i} = \frac{|\phi_i(t_0)|}{d_i} = \frac{|x_1^{i_1}(t_0) \dots x_n^{i_n}(t_0)|}{K^{i-1}} \leq \frac{\|x(t_0)\|^i}{K^{i-1}} \leq \|x(t_0)\|$$

Hence

$$\sup_{j \geq 1} \left[\frac{v_j(t_0)}{d_j} \right] \leq \|x(t_0)\|$$

By theorem 2.1, there exist $\lambda > 0, m \geq 1$ such that

$$\frac{v_i(t)}{K^{i-1}} \leq m \cdot \sup_{j \geq 1} \left[\frac{v_j(t_0)}{d_j} \right] e^{\lambda(t-t_0)}$$

for all $t \geq t_0$ and all $i \geq 1$. Then, we have

$$\| \phi_1(t) \| \leq m \cdot \| x(t_0) \| e^{-\lambda(t-t_0)}$$

for all $t \geq t_0$.

Therefore, we get

$$\| x(t) \| \leq m \cdot \| x(t_0) \| e^{-\lambda(t-t_0)}$$

for all $t \geq t_0$, whenever $\| x(t_0) \| \leq K$. This shows that the zero solution of (3) is K -globally exponentially stable and the proof is complete.

Corollary 3.1. If there exist constants $h > 0, \delta > 0$ and $K > 0$ such that

$$\begin{aligned} f_{1(l)}^l(t) &\leq -h < 0 \\ \sum_{j \neq 0} K^j \cdot \frac{|f_{j+1(l)}^l(t)|}{|f_{1(l)}^l(t)|} &\leq \delta < 1 \end{aligned}$$

for all $t \geq t_0$ and $1 \leq l \leq n$, then, the zero solution of (3) is K -globally exponentially stable.

Proof: To prove corollary 3.1, we only need to check that conditions in theorem 3.1 is satisfied. Indeed, from (5), we have

$$a_i^i(t) = \sum_{l=1}^n i_k \cdot f_{1(l)}^l(t) = \sum_{l=1}^n i_l \cdot f_l^l(t) \leq -hi \leq -h < 0$$

and

$$\begin{aligned}
& \sum_{j \neq i} K^{j-i} \frac{|a_i^j(t)|}{|a_i^i(t)|} \\
&= 1 + \frac{1}{|a_i^i(t)|} \left[a_i^i(t) + \sum_{j \neq i} K^{j-i} |a_i^j(t)| \right] \\
&\leq 1 + \frac{1}{hi} \left[\sum_{l=1}^n i_l \cdot f_{1(l)}^l(t) + \sum_{j \neq i} K^{j-i} \cdot \sum_{l=1}^n i_l \cdot |f_{j-i+1(l)}^l(t)| \right] \\
&\leq 1 + \frac{1}{hi} \sum_{l=1}^n i_l \cdot |f_{1(l)}^l(t)| \left[-1 + \sum_{j \neq i} K^{j-i} \cdot \frac{|f_{j-i+1(l)}^l(t)|}{|f_{1(l)}^l(t)|} \right] \\
&\leq 1 + \frac{1}{hi} \sum_{l=1}^n i_l \cdot |f_{1(l)}^l(t)| \left[-1 + \sum_{j \neq 0} K^j \cdot \frac{|f_{j+1(l)}^l(t)|}{|f_{1(l)}^l(t)|} \right] \\
&\leq 1 - \frac{(1-\delta)}{hi} \sum_{l=1}^n i_l \cdot |f_{1(l)}^l(t)| \\
&\leq 1 - \frac{(1-\delta)}{hi} \sum_{l=1}^n i_l \cdot h \\
&= \delta \\
&< 1
\end{aligned}$$

This completes the proof.

Now, let $x^{[p]}$, $p \geq 1$, denote $N(n, p)$ -dimensional vector

$$N(n, p) = \binom{n+p-1}{n}$$

of homogeneous p -forms in the components of x . The elements of the vector

$x^{[p]}$ are of the form $x_1^{p_1} \dots x_n^{p_n}$ with $p_1 + \dots + p_n = p$, $p_i \geq 0$, $1 \leq i \leq n$.

Write $f(t, x(t))$ as

$$f_k(t, x(t)) = \sum_{p=1}^{\infty} \sum_{p_1+\dots+p_n=p} f_{p_1, \dots, p_n}^k(t) \cdot x_1^{p_1}(t) \dots x_n^{p_n}(t)$$

Similarly as discussed by Sira-Ramirez[7] (1988), we may write

$$\frac{d}{dt} x^{[p]} = \sum_{l=p}^{\infty} F_l^p(t) \cdot x^{[l]}(t) \quad (7)$$

where $F_l^p(t)$ is an $N(n, p) \times N(n, l)$ matrix ($l \geq p$) defined as

$$F_l^p(t) = \left(\sum_{k=1}^n i_k f_{l_1-p_1, \dots, l_k-p_k+1, \dots, l_n-p_n}^k(t) \right)_{\sum_{i=1}^n l_i=l}^{\sum_{i=1}^n p_i=p}$$

In the space of $R^{N(n,p)}$, we define

$$\| x^{[p]} \| = \sup_{p_1+\dots+p_n=p} [\| x_1^{p_1} \dots x_n^{p_n} \|]$$

where, $x \in R^n$.

Suppose that $\Phi_p(t, s)$ satisfies

$$\frac{\partial \Phi_p(t, s)}{\partial t} = F_p^p(t) \cdot \Phi_p(t, s)$$

$$\Phi_p(t, t) = I_p$$

where I_p is an identity matrix. We also suppose there exist a nonnegative continuous function $r_p(t)$ such that

$$\| \Phi_p(t, s) \| \leq e^{-\int_s^t r_p(\tau) d\tau}$$

for $t \geq s \geq t_0$.

Theorem 3.2. If there exist $h > 0, \delta > 0$ and $K > 0$ such that

$$r_p(t) \geq h > 0$$

$$\sum_{l=p+1}^{\infty} K^{l-p} \cdot \frac{\|F_l^p(t)\|_l}{r_p(t)} \leq \delta < 1$$

for all $p \geq 1$ and all $t \geq t_0$. Then, the zero solution of (3) is K -globally exponentially stable.

Proof: From (7), by the method of parameter variation, we have

$$x^{[p]} = \Phi_p(t, t_0)x^{[p]}(t_0) + \sum_{l=p+1}^{\infty} \int_{t_0}^t \Phi_p(t, s)F_l^p(s)x^{[l]}(s)ds$$

Taking norm on both sides, we have

$$\begin{aligned} \|x^{[p]}(t)\|_p &\leq e^{-\int_{t_0}^t r_p(\tau)d\tau} \|x^{[p]}(t_0)\| \\ &+ \sum_{l=p+1}^{\infty} \int_{t_0}^t e^{-\int_s^t r_p(\tau)d\tau} \cdot \|F_l^p(s)\|_l \cdot \|x^{[l]}(s)\|_l \cdot ds \end{aligned}$$

Let

$$\begin{aligned} v_p(t) &= e^{-\int_{t_0}^t r_p(\tau)d\tau} \|x^{[p]}(t_0)\| \\ &+ \sum_{l=p+1}^{\infty} \int_{t_0}^t e^{-\int_s^t r_p(\tau)d\tau} \cdot \|F_l^p(s)\|_l \cdot \|x^{[l]}(s)\|_l \cdot ds \end{aligned}$$

Then, choose $d_p = K^{p-1}$ and note that

$$\|x^{[p]}(t_0)\| = \sup_{p_1+\dots+p_n=p} [\|x_1^{p_1}(t_0) \dots x_n^{p_n}(t_0)\|] \leq \|x(t_0)\|^p$$

As in the proof of theorem 3.1, it follows that the zero solution of (3) is K -globally exponentially stable. This completes the proof.

4 Nonlinear Delay Systems

Consider the nonlinear delay system described as follows

$$\begin{aligned}\dot{x}(t) &= f(t, x(t)) + h(t, x(t), x(t - \tau)) \\ x(t) &= \varphi(t), \quad t_0 - \tau \leq t \leq t_0\end{aligned}\tag{8}$$

where $f : I \times R^n \longrightarrow R^n, I = [t_0, +\infty)$, is continuously differentiable in the region $I \times R^n, f(t, 0) \equiv 0$, $h : I \times R^n \times R^n \longrightarrow R^n$ is a continuous function with $h(t, 0, 0) \equiv 0$ and $\varphi(t)$ is continuous on $[t_0 - \tau, t_0]$. We define $\|\varphi\| = \sup_{t_0 - \tau \leq t \leq t_0} [\|\varphi(t)\|]$. We shall always assume that the solution of (8) exists and is unique.

Defination 4.1. The zero solution of (8) is said to be K -globally exponentially stable if there exist $\lambda > 0, \pi \geq 1$ such that $\|\varphi\| \leq K$ implies that

$$\|x(t, t_0, \varphi(t))\| \leq \pi \cdot \|\varphi\| \cdot e^{-\lambda(t-t_0)}$$

for $t \geq t_0$.

To analyse the stability of (8), we need to consider the system

$$\dot{y}(t) = f(t, y(t)) \quad (9)$$

Let $y(t) = y(t, t_0, \varphi(t_0))$, $x(t) = x(t, t_0, \varphi(t))$. Using the Alekseev nonlinear variation-of-constants formula (cf. Brauer 1966), we have the following result.

Lemma 4.1. The solutions of (8) and (9) are related by the formula

$$x(t) = \begin{cases} y(t) + \int_{t_0}^t \Phi(t, s, x(s)) h(s, x(s), x(s - \tau)) ds & t \leq t_0 \\ \varphi(t) & t_0 - \tau \leq t \leq t_0 \end{cases}$$

where Φ is the matrix function given by

$$\Phi(t, t_0, y_0) = \frac{\partial}{\partial y_0} y(t, t_0, y_0)$$

and it is the fundamental solution of the variational system

$$\dot{Z} = f_y[t, y(t, t_0, y_0)]Z$$

We also have from Brauer(1966) the result:

Lemma 4.2. Let $x_0, y_0 \in R^n$ and denote by θ the straight line between x_0 and y_0 , i.e.

$$\theta(t) = x_0 + \lambda(y_0 - x_0), 0 \leq \lambda \leq 1$$

Then the system (9) has solutions through x_0, y_0 , which satisfy

$$\| y(t, t_0, y_0) - y(t, t_0, x_0) \| \leq \max_{0 \leq \lambda \leq 1} \| \Phi(t, t_0, \theta(\lambda)) \| \cdot \| y_0 - x_0 \|$$

Theorem 4.1. If the system (8) satisfies the following conditions

(i). $\| \Phi(t, s, x) \| \leq m_1 e^{-r(t-s)}$ for all $(t, s, x) \in I \times I \times R^n$, where $r > 0, m \geq 1$ are constants;

(ii). $\| h(t, x(t), x(t - \tau)) \| \leq \sum_{j=1}^{\infty} (b_j \| x(t) \|^j + c_j \| x(t - \tau) \|^j)$, where $b_j \geq 0, c_j \geq 0$;

(iii). There exist a constant $K > 0$ such that

$$\frac{m_1}{r} \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) K^{j-1} < 1$$

then the zero solution of (8) is $\frac{K}{m_1+1}$ -globally exponentially stable.

Proof: From lemma 4.2, it follows that

$$\| x(t) \| \leq \| y(t) \| + \int_{t_0}^t \| \Phi(t, s, x(s)) \| \cdot \| h(s, x(s), x(s - \tau)) \| ds$$

for $t \geq t_0$.

By lemma 4.2 and conditions (i) and (ii), we have

$$\begin{aligned} \| x(t) \| &\leq m_1 \| \varphi \| e^{-r(t-t_0)} \\ &+ m_1 \sum_{j=1}^{\infty} \int_{t_0}^t e^{-(t-s)} (b_j \| x(s) \|^j + c_j \| x(s - \tau) \|^j) ds \\ &\leq m_1 \| \varphi \| e^{-(t-t_0)} + m_1 \sum_{j=1}^{\infty} b_j \int_{t_0}^t e^{(t-s)} \| x(s) \|^j ds \\ &+ m_1 e^{r\tau} \sum_{j=1}^{\infty} c_j \int_{t_0-\tau}^{t-\tau} e^{-r(t-s)} \| x(s) \|^j ds \end{aligned}$$

$$\begin{aligned}
&= m_1 \| \varphi \| e^{-(t-t_0)} + m_1 e^{r\tau} \sum_{j=1}^{\infty} c_j \int_{t_0-\tau}^{t_0} e^{-r(t-s)} \| x(s) \|^j ds \\
&+ m_1 \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) \int_{t_0}^t e^{-r(t-s)} \| x(s) \|^j ds \\
&\leq m_1 \| \varphi \| e^{-r(t-t_0)} + \frac{m_1 e^{r\tau}}{r} \sum_{j=1}^{\infty} c_j \| \varphi \|^j \cdot e^{-r(t-t_0)} \\
&+ m_1 \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) \int_{t_0}^t e^{-r(t-s)} \| x(s) \|^j ds \tag{10}
\end{aligned}$$

for $t \geq t_0$.

When $\| \varphi \| \leq K$, we have

$$\frac{\| \varphi \|^j}{K^{j-1}} \leq \| \varphi \|^j$$

for $j = 1, 2, \dots$. Then, we get

$$\begin{aligned}
\frac{m_1 e^{r\tau}}{r} \sum_{j=1}^{\infty} c_j \| \varphi \|^j &\leq \frac{m_1 e^{r\tau}}{r} \sum_{j=1}^{\infty} c_j K^{j-1} \cdot \frac{\| \varphi \|^j}{K^{j-1}} \\
&\leq \frac{m_1 e^{r\tau}}{r} \sum_{j=1}^{\infty} c_j K^{j-1} \cdot \| \varphi \| \\
&\leq \| \varphi \|
\end{aligned}$$

(This follows from condition (iii)).

From (10), it follows that

$$\begin{aligned}
\| x(t) \| &\leq (m_1 + 1) \| \varphi \| e^{r(t-t_0)} \\
&+ m_1 \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) \int_{t_0}^t e^{-r(t-s)} \| x(s) \|^j ds
\end{aligned}$$

for $t \geq t_0$, whenever $\|\varphi\| \leq K$.

Let

$$\begin{aligned} S(t) &= (m_1 + 1) \|\varphi\| e^{-r(t-t_0)} \\ &+ m_1 \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) \int_{t_0}^t e^{-r(t-s)} \|x(s)\|^j ds \end{aligned}$$

We have $\|x(t)\| \leq S(t)$ for $t \geq t_0$, and

$$\dot{S}(t) \leq -rS(t) + m_1 \sum_{j=1}^{\infty} (b_j + e^{r\tau} c_j) S^j(t)$$

for $t \geq t_0$.

Since $S(t_0) = (m_1 + 1) \|\varphi\|$, then, when $\|\varphi\| \leq \frac{K}{m_1+1}$, using corollary

2.1, we get

$$S(t) \leq m(m_1 + 1) \|\varphi\| e^{-\lambda(t-t_0)}$$

for $t \geq t_0$, where $\lambda > 0, m \geq 1$ are constants.

Therefore, we have

$$\|x(t)\| \leq m(m_1 + 1) \|\varphi\| e^{-\lambda(t-t_0)}$$

for $t \geq t_0$, whenever $\|\varphi\| \leq \frac{K}{m_1+1}$. This shows that the zero solution of (8)

is $\frac{K}{m_1+1}$ -globally exponentially stable. The proof is complete.

5 Examples

Example 5.1. Consider the one-dimensional delay system

$$\dot{x}(t) = f(x(t)) + h(x(t - \tau)) \quad (11)$$

where $f(0) = h(0) = 0$. Assume that $f(x(t))$ and $h(x(t - \tau))$ are analytic.

Then, we may write

$$f(x(t)) = \sum_{j=1}^{\infty} f_j \cdot x^j(t), \quad h(x(t - \tau)) = \sum_{j=1}^{\infty} h_j \cdot x^j(t - \tau)$$

Suppose that $f_1 < 0$, then, if there exist a constant $K > 0$ such that

$$\frac{1}{|f_1|} \left[|h_1| e^{|f_1| \cdot \tau} + \sum_{j=2}^{\infty} (|f_j| + |h_j| e^{|f_1| \cdot \tau}) K^{j-1} \right] < 1$$

the zero solution of (11) is $\frac{K}{2}$ -globally exponentially stable.

Example 5.2. Consider the delay system

$$\dot{x}(t) = -x(t) + \frac{1}{40} x^2(t - \ln 2) \quad (12)$$

It is easy to check that for every $K \in (0, 10)$ the zero solution of (12) is

K -globally exponentially stable.

Example 5.3. Consider the system

$$\begin{cases} \dot{x}_1(t) = -18(t+1) \cdot x_1(t) + 3t \cdot \sin^2 t \cdot x_2^2(t) - t \cos t \cdot x_1^2(t) \cdot x_2(t) \\ \dot{x}_2(t) = e^{t \sin^2 t} \cdot x_1^3(t) - 9e^t \cdot x_2(t) \end{cases} \quad (13)$$

Using corollary 3.1, we can get that for every $K \in (0, 3)$ that zero solution of (13) is K -globally exponentially stable.

References

- [1] V.M.Alekseev, An Estimate for the Perturbations of the Solutions of Ordinary Differential Equations, (Russian), *Vestnik Moskov. Univ. Ser. I Mat. Mech.*, No.2, 28-36, 1961.
- [2] S.P.Banks, Mathematical Theories of Nonlinear systems, London: Prentice-Hall, 1988.
- [3] S.P.Banks, Tensor Operators and Limit Cycles in Nonlinear systems, *Int. J. Control*, 43, 883-890, 1986.
- [4] S.P.Banks, On the Generalisation of the Liapunov Equation to Nonlinear Systems, *Int. J. Sys. Sci.*, 19, 629-636, 1988.
- [5] F.Brauer, Perturbations of Nonlinear Systems of Differential Equations *J. Math. Anal. Appl.*, 14, 198-206, 1966.
- [6] J.LaSalle and S.Lefschetz, Stability by Liapunov's Direct Method, New York: Academic Press, 1961.
- [7] H.Sira-Ramirez, Algebraic condition for observability of non-linear analytic system, *Int. J. Sys. Sci.*, 19, 2147-2155, 1988.